Untitled.notebook November 16, 2015

_l‘

mpou - rate of 3.5% per year for 6 years. How much interest would Ronald
ake on mentin 6 years? '

e $8000.00. Her bank offers a loan that charges simple interest at a rate of
edona deposit is $234.00 with a simple interest rate of 3.2%. If the money
or 3 years, what was the principle invested?

to have $1600.00 in two years for a trip to Jamaica with her graduating class. Her
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doo that cost $7000.00 plus tax (NB 13%). Alex has saved

’Iﬁbw his ski-doo? ‘
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like to buy a new ski-doo that cost $7000.00 plus tax (NB 13%). Alex has saved

.00 on his own for a down payment.
v much will Alex have to borrow to buy his ski-doo?
n get a loan at 5% per annum with an amortization period of 4 years. What will be

nonthly payment?
- will be the total he pays for his loan?
wuch will the ski-doo cost Alex?

ts to buy a tractor that costs $42 000.00 plus tax (NB 13%). Troy has his old tractor to
hich is valued at $11000.00. '
L— A TRADE IN IS SUBTRACTED BEFORE TAX IS CALCULATED!!)
nuch will Henry have to borrow to buy the tractor?

loan at 3.1_5% per annum with an amortization period of 5 years. What will

pays for his loan?
ay in finance charges?
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